THE THIRD PRE-BOARD EXAMINATION 2014-15
Class X (ICSE)
COMPUTER APPLICATIONS (Theory)

Time: Two hours Maximum marks: 100
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' Answers lo thiz pager must e wreilten od the ansveer sorlpd provided separaiely

* Al swhsections of each guesiion are to be gnawered n the correct oraer.

* AN working including rough work showld be dene on the same shees as the resi of the aniwer
*  You will mat be allowed fo write during the fivst 15 minutes. The time [z {0 be spent i@
reading the question paper,

Please do mot write anything on the qurestion paper excep! your rame amd roll armber.

The irterided morks for giestions or parts of guesiions are given in brackess [ ).

Aitempt all questions fraom Section A aad any four questions from Section .
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SECTION A [40 marks]
Aitempi all quesrions from fhis Sectiom,
Cruestion 1
Answer the following questions:
(a) Define the following with an example for ench:
{1} anobject (i) aclass. [2]
(b} Categorize the following a5 keywords or identafiers:
iy block {if] FIMAL [1]
(i) boabean {iv] try. [
{€) Write the difference between A charcter candtant and & string constanl. [2]
{d} Write the use of keyword import in Java (2]
{£) Find the errors in the following code snippet;
it x; x = Lk
iF{x=m= [0}
{ Iniy=20;
y*l=x;
1
System.out.println["x ="+ x " y =" +yk [2]
Question 2
Answer the following questions: L
(a) What will be the value in vanable a after executing the following statements?
int .= Z;
a "= |5 - gt [2]
J—4 This paper conslsts of five printed pages. Turn over




{b) Armange the following group of operators in order of higher precedence to

lower precedence:
(i) logical (i) arithmetic (iii) relational. 2]
I;ll'ﬂtﬂl'l-t. [1]

(¢) Write the differcnce between a variable and a €
(d) Explain function overloading. [2]
(&) Give two examples of wrapper classes. 2]

Question 3
Angwer the following questions:
(a) What is the data type returncd by the follpwing library functions:
(i) pow() (ii) replace( )- i2)
() Write the output of the following program snippet:
into=10;
for (inti=1; 1 <= 10; it+)
i
ifi%2==0&&i>3)
COntnue;
Systern.out. printn(n + i);

; 2]

e IC) Find out the error in the following code snippet. Rewrite the i
correctly that contain an error(s). B
yoad fsl{int &, b)

System_out.printlnf a + B);
returmn;

tx=5,y=10,
Cyp LI l:i.l!l Iﬂd-:l" :LH ="+ E-I'EIU' }F]]i

il

[2]






Wrile a program in Java to accept basic salary of an empleaee. Caleulafe the gross salany,
Gross Salary = Basse Salary + Deamoss Allowanco + Special Allowance
Frnt the information in the Sonmat gives below:
Basic DA Special Allowance {arexs Salory
- [15]

ruilion 5
Wrile a menu driven peagram = Java to pesformn the folbowsag tasks by using swilch
Coss Satement
{a) prot the senes:
0,5 8, 1524, ... nterms
(&} pnnt the pasiem
l
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EN BCRRE [15]
uestion &
Write 2 prograa in Java to 2coept  ramber gesf displiy the sew momber after
removing all 2enea rom M.
For example:;
Inpur:  ROOI052
Clupus: K152 [15]

Question T

Write & program @ Java o aocepd 4 bt of nwenty Sirngs in s amay. From tee amay

prist thoge words which are palindrome. At the end the program should print the iotsl
eamber of pelindroines prined, [135]

Qruestion 8
Chn the occasion of Golden Jubidee Foundaicn Day ks senintion wants o disobes g
pombination of five pifls whese price is m the range of T 50 v ¥ 200 10 each of it
cmpliyes
The managemend has asked to colled the mmes of fwenty such 1tems along wiil gseir
prices so that five iters of mininuemn prces beginoang from ¥ 50 may be chosen foc
gifung,
Write & program in Java 1o scoopt the pames of the iwems and their prices i approprisee
type of ammys. Sort the fwao amys usmg selection sor techniqoe on the basiz of prices
in ascending order.

J=a (4)
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: :'|"_.-: : l-ﬂ:ﬂ-ﬂ- paamisd Mumber wiih the [ollowimg deseriplyom:

gomee vasiablos / datn sk
I:III.II 10 B%I0E o nuimber
- __'_."'- methods:
Numberi, ) defmult eosstrcor v initalize num ky 0
woid accept ) I il and Slore an iRteger in num

poolenn msquare(int x) 0 check whether the value in x i a square of the
3 value in nwm and return trog iF it is and false
[ oiherwise.

e
.-"n:u::l;l:lnd i creale an ohject of the class and cll the above member
.j-_ apprOpriabe messape. [15]
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